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Questions

Margaret Thatcher became the Prime Minister UK on

Margaret Thatcher belonged to which political party?

Who was the first woman Prime Minister of United Kingdom?

Margaret Thatcher was the Prime Minister of

Hugo Chavez President was succeeded by

Which disease was the cause of Chavez death at the age of 58?

Hugo Chavez was re-elected in the fourth presidential term

Hugo Chavez was re-elected in with over 60% of the vote for his third presidential
term,

Hugo Chavez was re-elected in for his second presidential term.

Hugo Chavez implemented the Venezuelan Constitution in
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. 4th May 1979
. 7th May 1979
. 8th May 1979
. 9th May 1979

. Conservative Party
. Liberal Party

. Democratic Party

. Labour Party

. Margaret Thatcher
. Hill Brook

. Naveen Marin

. Bileom vill

. United Kingdom
. USA

. Canada

. Brazil

. Mad Ago Hefal
. Maduro
James

. Callaghan

. Cancer

. Hepatitis

. Measles

. Small Pox

. 4th October 2012
. 5 October 2012
. 7th October 2012
. 9 October 2012

. 2004
. 2006
. 2007
. 2008

. 1999
. 2000
. 2001
. 2004

. 1999
. 2000
. 2001
. 2004



